17CS562

Flfth Semester B.E. Degree Examlnatlon, Dec.2023/J an.2024
ey Artlflclal Intelligence g heti
T1me 3 hrs. Max. Marks 100

Note: Answer any FIVE full questions, choasmg ONE full question from each module

Module

-1 a. Explain with production rules for th
i - 3 gallons to get exactly 2 gallon ofwater. :
b. Distinguish between breadth first search and depth first sear

.(10 Marks) . .
(10 Marks)

50, will be treated as malpractice.

é) 2 a ) y (10 Marks)

8, b. aph, Find the cost effectlve ath from state A to final state J.
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28 b. Consider.the followmg set of fa.cts represent it in pr !
g & i) Marhus wasaman . @
=i ii) M&"rcus was a Pompeian -

28 iii) , ‘Marcus was born in 40AD
8 E i) All men are menta Ty
8= V) All Pompeian‘di when the volcano erupted in 79AD Fung s
0 & . 'vi) No mental lives longer than 150 year (10 Marks)

£ g :

> éﬁ 4 a. Explain Proportlonal resolution algorlthm (10 Marks) _

, 5 fi b. Explain unify algorlthm for example e
B {(x=int y=y-—>x] 4=, (10 Marks) :
‘I Zo N )
‘ - Module-3

g 5 a. Explain with an example how TMS provides the ability for backtrackmg (10 Marks)

§ b. Explain Baye’s theerem Using Baye’s theorem suppose a screening test for a disease has

1% of false positive rate and 1% of false negative rate. Suppose the rate of disease in the

populatlon 1s/0. 002. Find the percentage of randomly selected persons tested positive.
(10 Marks)
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OR
6 a. Explain Semantic Nets, write a Semantic Net representinga entence “John gave the book to
Mary” ‘ (10 Marks)
b. Explain property inheritance algorithm for frames (10 Marks)

10

Module-4
7 a. Explain Conceptual Dependency (CD). Draw the D representation for “John ate a Frog”.
‘% (10 Marks)

b. Define script. Write a restaurant script f St:¢John went out to restaurant last night. He ordered
steak. When he paid for 1t he notrced t . He hurried home
since it has started to rain” o ; (10 Marks)

8 a. Explain CYC. 5 : (05 Marks)

b. State where in CYC ontologir followmg concept should fall

1) Cat
i1) Count case
iii)
1v)
V) (05 Marks)

A

(10 Marks)

9 a. ; (10 Marks)
: “‘Explam Augmented ;ansmon network draw an ATN network for a fragment of English. = -

. # (10 Marks)

a. -Explain : i).Rote learning  i1) Learnmg by taking advice ’ ' ; (08 Marks)

b. Explain Winston’s learning program ' ~ (06 Marks) 4

c. Explain knowledge acquisition for expert system. _ (06 Marks)
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